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§ 0.61 579 541 509 505 495 488 482 477
[/ 599 5004 476 453 439 428 0 421 415 410
7 559 474 435 412 3197 387 379 373 3.08

8 532 440 407 384 369 358 3500 3440 330
9 512 426 38 363 348 337 329 323 318
I 496 410 371 348 333 322 3l4 307 302
1 484 398 359 336 320 309 301 295 290
12 475 389 349 326 311 3.00 291 285 2.80
13 4.67 381 341 3.8 303 292 28 277 271
4 4.60 374 334 301 296 285 276 270 265
15 454 368 329 306 290 279 27 264 2,59
16 449 363 324 301 285 274 266 259 254
17 445 359 3200 296 28] 270 2.6l 2585 249
I8 4.41 3585 306 293 277 266 258 25| 2.46
19 438 352 303 290 274 263 254 248 242
21) 435 349 3100 287 2 2.60 251 245 239
21 432 347 3.07 2.8 268 257 249 242 237
22 430 344 305 282 266 255 246 240 234
23 428 342 303 280 264 253 244 237 232
24 426 340 3.01 298 262 25l 242 236 230
25 4.24 339 299 276 260 249 240 234 228
26 423 337 298 274 259 247 239 232 227
27 4.21 335 296 273 257 246 237 231 2.25
28 420 334 295 27 256 245 236 229 224
29 418 333 293 270 255 243 23 228 222
30 417 332 292 269 253 242 233 227 22
40 408 323 284 261 245 2} 225 218 212
60 400 315 276 253 237 225 217 210 204
120 392 307 268 245 229 218 209 202 196
oo 384 3.00 2,60 237 221 2,10 2.01 1,94 .88

%78 (#£88)



ForACRE YR

(#£1)
PF>F)=a
0 F.
vi(d.f) @=0.025
va(d.f) / ) 3 4 5 6 7 8 9
1 64779 799.48 864.15 899.60 921.83 937.11 948.20 956.64 963.28
2 38,51 39.00 3907 3925 3930 3933 3936 39.37 3939
3 1744 1604 1544 1510 1488 1473 14.62 14.54 14.47
4 1222 1065 998 960 936 920 907 898 890
A 10.01 8.43 71.76 7.39 .15 6.98 6.85 6.76 6.68
0 881 726 660 623 599 582 570 560 5.52
7 807 654  S¥9 552 529 502 499 490 4.82
8 757 606 542 505 482 465 453 443 436
9 721 571 508 472 448 432 420 410 4.03
10 694 546 483 447 424 407 395 385 378
11 6.72 526 463 428 404 388 376 366 3.50
12 6.55 S5.00 447 412 380 373 361 351 3.44
13 641 497 435 400 377 360 348 339 331
14 630 486 424 389 366 350 338 320 321
15 6.20 477 415 380 358 341 320 320 3.2
16 612 469 408 373 350 334 322 312 305
17 6.04 462 401 366 344 328 316 306 298
18 508 456 395 361 338 322 310 301 293
19 592 451 390 356 333 317 305 296 288
20 587 446 386 351 329 313 301 291 284
21 583 442 382 348 325 309 297 287 2.80
22 579 438 378 344 322 305 293 284 276
23 575 435 375 341 318 302 290 281 273
24 572432 372 338 315 299 287 278 270
25 569 429 369 335 313 297 285 275 2.68
26 566 427 367 333 310 294 282 273 265
27 563 424 365 331 308 292 280 271 2.63
28 561 422 363 320 306 290 278 2.69 2.6l
29 559 420 361 327 304 288 276 267 2.59
30 557 418 359 325 303 287 275 265 257
40 542 405 346 313 290 274 262 253 245
60 5290 393 334 301 279 263 251 241 233
120 515 380 323 289 267 252 239 230 222
co 502 369 302 279 257 241 229 219 211

$8H (#£s87)



i§b§‘éiﬁﬂr>}§:;“\‘ 101 £ 48 B A P40 - 5140 & B3 RMA B %
Frnl AR AR R A A )

ﬂﬁi%%%

A - LUDOO00 (e a3)

(#3528 12048 48 - %> GHM3 5 £6045]

BEE

AR 1 2 3 4 5 6 7 8 9 10
S AC B B C D A B AC C D
o 11 12 13 14 15 16 17 18 19 20
AR B BCD A C D B D & A D

(3 478 5105 » £ 40 5]

—_—

[#% )

KA G kb AZE £ kG 12 0230 0 FIA P RAEREIE  THER ZHm R -
n=100,X =170,8 =101 - = 0.98,Z(_,) = Zy. = 2.33

_ S
(~XF7Z ——
/ 0-¢) \n
_ 10 _
=170%233- ——=170F2.33

4100

~167.67 < 1 <172.33(847)

() #Eha@E Y= +BX+BZ+ethit3 R -
[ 4% ]
=82.94013-1.99674.X + 0.00035Z

Q) ALESEH MRS P WESSR)EMF(SSTIE AN A 2 B 22 FRAEHMEE b E
B R At R A B 2

[ #% %]

df(SSR) % 7 B % $ 8 % -

df(SST) & Mtk A A ER | -




(3) Hiex QFEHMA T RAFEED P X, ZATHY B#MERD?
[ 7% ]

Ho: X, Z % Y 7 B Ap# sk

Hi: X, Z#HY BAFEED

W L A KT o 0 p =0.0014 -
WAL T4 a=0.05

T pfi<a

oo LEAFEAKEa=0.05F > 548 Hy
Rpo» X, Z ¥ Y BAERED -

7 B
Ho X, Z ¥ Y RBBZFRA
Hi: X, Z# Y BAEREED

B B BRI AT o F{E=93392
E R T4 Frp0s=3.49

1F FAE> Fr00s

F {8 548 483,

o LMFEAREw=0.05T > 54 Ho-
BPo X, Z#Y BARIERED) -

(4) HBAFEAKESUT » FHREBIATAENO0? BRAMTLEREMREANETR -
[ Az )
Ho: 3:=0
H|: B]?L-O

B L& 2 9T 40 p {a=0.09793 -

HAEE «=0.05

HFplE>a

#o EMEKREa=005TF » Rip8 Hy
AP v 81=0 ¢

Eh: a9 XHY g0 -

5 AR
H[)Z [J)|=D
H[: ‘6’;?50

Bk 2 T4 ¢ {E=-1.73610-

E R THo 0 1p005=2.086

BP + -1h0,0.005<t 1 <l200.025

{18 5 3 3R

o AAEAKRE=005TF  R4EL H
Bpr =0

B AYHXHY BREESD -



(5) AE W B8y IS%EHER -
QS
Wbk 20 T4 B,49 95S%IEHE R A (0.00016,0.00054) -

~

(1) Fm LA B8, & -

QD
BERR [ Fhk | awk [FHFAR] F
£ 3 1348 3 449.33 38.11
i E 163.7 4 40.925 3.47
R AR 141.5 12 11.79
e 1653.2 19

(2) FiREAMER R A BHBEER (2=005)-

[ ##% ]

Ho: 4 #8 hey B mBRE £ £
Hi:d s ke B A B 2R

i LS R Tho FE=38.11
ﬁi » 7] 4o Fs,i2,0.05:3-49

F FAE> Fya00s

F{H 3545 8.3

o EHAERKEa=0.05TF » 354 Hy-
P4 a3 A% LR -

(3) #F ey PIAARASFIE A REAR & Bkt o) — B 49 R 3847 0 5158 545 B B F(factor)
1% 32 (treatment) ~ 4 B (block) ~ & & JE 4 #i(dependent variable) & 4 47 ?

[ %% ]

B f: $.5)

E32: Tercel ~ New Festival ~ March ~ Corsa
& 4R

RE R B4nsTaEe) 58



g o~

(1) HHh R B S IE T XU R (FAGEIIFTHER (BAEALa=005) 2
[ g% ]

A iy AR AKX YR T B T a0

Ho: RAELEF XXM ERER » By =4,

Hi: MRy X2 s RA £ % B # 1,

B LK Excel 4% » 9T 40 p f5=0.081 -
HAEE a=0.05

Hpa>a

W EBEAE=0.05F » R4a4 Hy
Bp > AT K2 B REEZR -

7 B
Hy mfEERE A2 HRELR
Hi: mfEFR2FA 2 EH 2R

&1 b il Excel &% » 7T 4o 1 14=1.879 -

B L i Excel & R(RE&K) Thobs R N40025=2.145
B -ha0.025<l A< l3005

f AR 52 IR

#o g HKEa=005TF » K42 Hy

Bp o AT XX HAREEE -

Q) FREILRHEETEF R P2 £ B 0IS%IEREM (-7 L&k % $#yPooled 4
B A REE AR ERS,)

[ 524 ]
L ifiExcelé& £ 0 Tho y, - 1, 995% 1 & A

’1 1
(84.25-81) + 1150025%V11.96 §+§ =3.25+2.145x3.46x0.5=3.2513.71

(3) -3de B 0 T 0 S e BRSO T A9 7 S BB K 0 = 0.05 F » MR A R
AATHBIHZYARATRY -

(%)

R0~ oy A AXE A YILR IR T B Th oy Beh 3t o
Hy: o,=0,

Hi: o,# o,

B L ik Excel £ % » F{5=21.143/2.786=7.59
ERTho» Fiz005=15.44



H FAA< Fiapms

F A8 545

o EBERE=005T iR Hp.
B » o,=0,

7 AR

40, A BXEHA YRR IR T A MR Y BH -
Hy: o,=0,
Hy: o, #* o,

i b Excel £ 2 » 94 F {5=2.786/21.143=0.1318

ER o Tho Faaoms=15.44 0 Fiagers=l Fizoas=1/15.44=0.0648
 Fazp0s<F < Fiz002s

FEBB25

o R E K0 =005F > R Hy.

Fp » o,=o,



